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1 Work out

54.6 x4.3

Summer 2017 Paper 1 O3

(Total for Question 1 is 3 marks)

N\




Summer 2018 Paper 1 Q1

2 (a) Work out 2l+1l
7 4

(2)
(b) Work out 1L =3
5 4
Give your answer as a mixed number in its simplest form.
(2)

(Total for Question 2 is 4 marks)
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3  Work out 35 X lg
Give your answer as a mixed number in its simplest form.

Summer 2019 Paper 1 09

(Total for Question 3 is 3 marks)

N\




4 Show that

1

27 X3~

3

3
4

3

4

Summer 2020 Paper 1 Q2

(Total for Question 4 is 3 marks)

N\




www.yesterdaysmathsexam.com

( N\
Summer 2021 Paper 1 Q1

5 (a) Workout 3.67x4.2

(b) Work out 59.84 ~ 1.6

(Total for Question 5 is 6 marks)
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6 Work out 4l - 2z
5 3

Give your answer as a mixed number.

N
Summer 2021 Paper 1 Q3

(Total for Question 6 is 3 marks)
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3 | Autumn 2019 Paper 1 Q3
7 Work out 1—x1=
4 3
Give your answer as a mixed number.
(Total for Question 7 is 3 marks)
L J
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Autumn 2022 Paper 1 Q2

3 1
8 Work out 1— +2—
(a) Work ou 5 1

Give your answer as a mixed number.

b) Sh tht2346—i
(b) Show tha 37079

2

(Total for Question 8 is 4 marks)
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9 Work out 0.004 x 0.32

Autumn 2022 Paper 1 04

(Total for Question 9 is 2 marks)

N\




( )
Autumn 2022 Paper 3 Q2

10 Rob has been asked to divide 120 in the ratio 3:5

Here is his working.
120+3 =40 120+5=24

Rob’s working is not correct.

Describe what Rob has done wrong.

(Total for Question 10 is 1 mark)




